[ Efficiency vs vertpos |

.................................................

.................................................

.................................................

.................................................

1 10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
s —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
Efficiend _, _ pom_v0001_R000000001__Global _mkFitNewDUP1000time__RECO

NOOSF—
045+ b
% o . . . . .
2 0.04F------ reeess :
o) F : :
D.035F- -+ rieeee :
o F . :
£0.08F ke
5} E :
0.025F -+ -eo-

0.02F -+ -
0.015F -+l {1 S

0.01 -+ {H--§ Al
0.005F- - {H111s SER
o O:""I"" A
E=RE W T =
@ r :

! (R E ¥ IE .
0.8f------ Eo L A
-30 -20 -10 0 10 20 30

TP vert z (cm)

~ 0.02

T

T

| O

-10° - ' 5 10 15
Sim. PV z (cm)



	Contents
	Page 1


